LIRS

No.1
IR & g By | BHE | TEHE & &
X (FfE-1) [HIVP  L=4.00m $30 ¥ 14 HhERRELT
BLKEMZT " ®20 PN 1 HhERRELT
HiVP ¢ 30 HiV4a vk ¢ 30 & 12
" $30% @20 & 1
HiF—X ®30% @20 & 2
SKXF—X ®30(V)x ¢p20(P)| 1& 1 XREHLUE
HITJLAR ¢ 20 & 3
HiF vy ¢ 20 & 2 KIEHERA
SKXWAT TR GRUER) ¢ 20 & 1 M X OKEHERA)
BRI —b W=150S m 54.9 48.0+4.4+25
TUHFBREIT o20 | FRELDF ®20 = 1
BhlHvryh(EBEER) $ 20 1@ 2 XREmMUE
TtUH=E H=600 #H 1
kBT HiZ)LAR ¢ 20 & 4
SKXTILAR(PPER) ®20 & 2 XREmMUE
HiVP 1 =4.00m 20 x 1 40mAER(1.5m X 24, 1.0m x 144)
RUIFLURAT(158) 2BE ¢ 20 m 15
BRY—k W=150S m 25 25mAR(1.0m X 24&. 0.5m x 1{4)




LZREE S

No.2
BRiRB e Bk B | Z8E | EEHE & &
R X (FRER-2) |HIVP  L=4.00m ¢ 30 X 28
BKEMET " $50 X 1
HiVP ¢ 30 " $25 X 1
HIRRVP (A% ®50 X 1
BERER LS B (RYY) @50 1@ 1
HiV4 vk ¢ 30 & 26
" ®30x ¢20 1& 1
HiF—X ®30% @20 & 2
HiT/LAR ¢ 20 & 1
SKXF—X(EEE ) @50x% ¢ 30 & 1 XRFERLE
ANBHEEEER) $50%x22° 1/2 | & 1
vsS¥aqrk $50 1@ 1
YRS KE GBEER) ¢50% ¢25 & 1
ISRAYIA Vb b 25 & 1
HiV4 vk 625 & 1
HIRU R ¢ 25 % 45° 1& 1
HIT/LAR ®25 & 2
Hif vy ®20 & 2 KIEHERA
BR—bk W=150S m 1245 104.0+8.4+0.5+8.3+3.3
HHBEI 630 |FRAEMTYIH $30 = 1
BV v (BEER) $30 & 2 XREmUE
HUH=E H=600 #A 1
HHBEBEI 625 |FREMTYIH 25 = 1
BV v (BEER) 25 & 2 XREmUE
HUH=E H=600 #A 1
HYHHEL ¢ 20 [R—)LsNLTd 20 1@ 1
HiASIL AL Tk 20 & 1
HUH=E H=360 #A 1
WwKkgIEIT HiTJLR 20 & 4
HiVP  L=4.00m $20 X 1 2.0m# E%(1.0m x 24)
BRI —b W=150S m 1.0 1.0m#AE%(0.5m x 244)




FHR

No.1
BRIR4 e bSr B | LU8E | EEHE " &
EHX (F#R-1) [E-—ILERBRT ®30 m 52.4
BKEMERT " 20 m 32
TSHFET ®30 m| 29
" 20 m| 11 KEHBRAFvYTET
RUIFLUEMFT ®30 m| 2
" ®20 m| 2 KEHBRAFvYTET
FHHRI—b m 54.9 48.0+4.4+2.5
EKERERT HEKETRE B 0.03 55.6m/2,000H=0.038
HYHHRETL 20| HHET ®20 = 1
RUIFLUEMFT @20 m| 2
WMENPOARERLCAAES ®20 a 2
REFETL H=600 #H 1
BEHRE L5'd 1
HWKOBLT |E-—ILERHRT @20 m 40
TSH#FT 20 m| 8
RYUZFLUERHKT ®20 m 15
RUIFLUEMFT @20 m| 4
FHHRI—b m 25




FHR

No.2
BRIR4 e B B | LU8E | EEHE " &
X (F#R-2) [E-—ILERBRT ®30 m 1124
BKEMEXT " @50 m 8.3
" 25 m 40
" @20 m 0.8
RR##F T & 50 m| 1 BB Bh L ELE A
TSHFET ®30 m| 57
" ¢ 25 A 8
" ®20 a 7 KEHBRAFvYTET
AHN=HILEFT (EEEMH) ¢ 50 a 4
RUIFLUEHFT @50 m| 2
" ¢ 30 O 1
YRILHKRERET (EEER) $50% 25 1@ 1
HENORERLAHES ®25 A 1
FHHRI—b m 1245 104.0+8.4+0.5+8.3+3.3
EKERERT HEKETRE B 0.06 121.5m/2,000H=0.06 5
HYHHRETL ¢ 30|HIHHET ®30 = 1
RUIFLUEMFT ®30 m| 2
HMEPORERLCAAES ®30 a 2
REFETL H=600 #H 1
SBEHRE L5'd 1
HYFREL ¢ 25|HYIHHEL @25 = 1
RUIFLUEMFT 25 m| 2
HENORERLAHES ®25 A 2
REFETL H=600 #H 1
SBEHRE L5'd 1
HYHHRETL 20| HHET ®20 = 1
HMENPORERLAAES ®20 a 1
TSH#FT 20 m| 1
REFETL H=360 #H 1 32 :H=150. 150A:H=150. [EEkf : H=60
SBEHRE L5'd 1
WAKUBLT |E-—ILEMRERT ®20 m 20
TSH#FT 20 m| 8
FHHRI—b m 1.0




T I #%H = X No.1
£ L b3 H B 4 = RETHME
Y i X (FRfgR-1)
BoKEMETL |HMKRIET H=600 BrE @ 060 m X 0698 m 549 m 2299 m3 20
MmERLT VSR Q) 060 m X 0238 m 549 m = 784 m3 8
HHIERLT HET valQ) 060 m X 0290 m 549 m = 955 m3 10
HIaET = 1238 m3 10
TRERET t=10cm RC-30 060 m X 549 m = 3294 m?2 33
LEREET t=8cm M-30 060 m X 549 m = 32.94 m2 33
AT T t=3cm FAHI 060 m X 549 m = 32.94 m2 33
AEIBAsTHET (ANAET) t=4cm BRI 060 m X 549 m = 3294 m2 33
CoflZE R YN T t=10cm 549 m X 2 & = 10980 m 110
CoffiZEhRiET t=10cm 060 m X 549 m = 32.94 m2 33
R As TR iR R T t=3cm 060 m X 549 m = 3294 m2 33
AsTREE R B - 0 T = 099 m3 1
CoffiZEs Bl - T = 329 m3 3
HBKEMRT |HMWMKET H=600 060 m X 0.686 m 25 m = 1.03 m3 1
HHIERLT TSR 060 m X 0226 m 25 m = 0.34 m3 0.3
BEWIERLT H=600 060 m X 0290 m 25 m = 044 m3 0.4
R AET = 055 m3 0.6
TERET t=10cm RC-30 060 m X 25 m = 150 m?2 2
TERET t=8cm M-30 060 m X 25 m = 150 m2 2
RAsEHEE T t=3cm FEAL 060 m X 25 m = 150 m?2 2
AEIHASTHET (AAET) t=4cm ok 1 060 m X 25 m = 150 m2 2
CofHZE R YIIT T t=10cm 25 m X 2 % = 500 m 5
CoffZE iR Bk T t=10cm 060 m X 25 m = 150 m2 2
R As T iR B P T t=3cm 060 m X 25 m = 150 m2 2
AsTRSE R B - 0 T = 0.05 m3 0.1
CoffEsE K- Nn T = 0.15 m3 0.2




T I #%H = X No.2
£ L b3 H B 4 = REtHE
¥t 1 X (TR fR-2)

BoKEMET |HMEKIET (R H=600 WrE @ 060 m X 0698 m X 1162 m = 48.66 m3 50
BEMRERIE T BEQ 060 m X 0720 m X 83 m = 359 m3 4
HHIERLT (MRR) .= rE® 060 m X 0238 m X 1162 m = 1659 m3 20
HHmIERLT 2 IA HrE® 060 m X 0260 m X 83 m = 129 m3 1
HMIERL T (VMRE) Sk EvalQ) 060 m X 0290 m X 1162 m = 2022 m3 20
HWIERLT HrE® 060 m X 0290 m X 83 m = 144 m3 1
R AET = 28.18 m3 30
TERET t=10cm RC-30 060 m X 1245 m = 7470 m2 75
LERAET t=8cm M-30 060 m X 1245 m = 7470 m2 75
RAsEHZET t=3cm FEAL 060 m X 1245 m = 7470 m2 75
R EIEASSRLE T (A HHET) t=4cm f*% 060 m X 1162 m = 69.72 m2 70

t=4cm BRI 080 m X 83 m = 6.64 m2 7
AsERZEhR UIBT T t=4cm 83 m X 4 % = 3320 m 33
AsThZEhRBERE T t=4cm 080 m X 83 m = 6.64 m2 7
IRAsEHEE IR B T (/MRAR) t=3cm 060 m X 1162 m = 69.72 m2 70
R AsEH = MR B T t=3cm 060 m X 83 m = 498 m2 5
AsEHZE B -0 T = 251 m3 3
CoffZEhR Ul T t=10cm 1162 m 2 % = 23240 m 232
CoffZE A T (/MRZE) t=10cm 060 m X 1162 m = 69.72 m2 70
Coffi Bl - 7 T = 6.97 m3 7




T I #%H = X No.3

£ L % H B 4 = RETHME
HAKEMRT |MMKRYET (MR H=600 060 m X 0.686 m 10 m = 041 m3 0.4
FEMIERL T (VMR1E) SR 060 m X 0226 m 10 m = 0.14 m3 0.1
BHIERL T (DR H=600 060 m X 0290 m 10 m = 017 m3 0.2
R AET = 022 m3 0.2
TERET t=10cm RC-30 060 m X 10 m = 060 m?2 0.6
LERAET t=8cm M-30 060 m X 10 m = 060 m?2 0.6
RAsEHZET t=3cm FEAL 060 m X 10 m = 060 m?2 0.6
AEIBASGHET (AHEL) t=4cm ok 1 060 m X 10 m = 060 m?2 0.6
CoffZE Rt T t=10cm 10 m X 2 % = 200 m 2
CoffiZEhR A T (/MRE) t=10cm 060 m X 1.0 m = 0.60 m2 0.6
IRAsEHEE IR B T (MRAR) t=3cm 060 m X 1.0 m = 0.60 m2 0.6
AsTRSE R B - 0 T = 0.02 m3 0.1
CoffiZEs Bl - T = 0.06 m3 0.1




»30 HiVP Bl K & B«
g R DIHFNT]
= Yar. Yar. /4 P— ﬁ‘m t * I
B OB E R |0 ERE . A (m) 2 s
B
Z-1 z.-2 Z.-3 DO—© (1)
HiVP 30 4. 000 1. 300 2.100 3. 400 0. 600 1
Gl
HiVP 30 4. 000 1. 000 3. 000 4. 000 TRAR-2E T HiVP
ER= 30
HHE|  4.000
Z 8. 000 2. 300 5. 100 7. 400 0. 600
8. 000 2. 300 5. 100 7. 400 0. 600




$30 HiVP Fl K & ) & & a2
PEE (m) DIHNT]
% (m) Y T
=] 1t s ==
7O M B |0 ERE g . i &
5}
Z-1 -2 Z.-3 Z—4 Z.-5 O 9 ()
HiVP 30 4. 000 2. 800 2. 800 1. 200 1
(e
HiVP 30 4. 000 1. 600 1. 000 2. 600 1. 400 HiVP
EE= 30
HhE|  4.000
= 8. 000 4. 400 1. 000 5. 400 2. 600
8. 000 4. 400 1. 000 5. 400 2. 600




$20 HiVP Bl K & b B £ BiRg © AR
UEE (m) DIHANT]
% (m) Y T
=] il >4 =
5 OB M 7 |0 ERE 7 g . i
5}
Z-1 -2 Z.-3 Z—4 Z.-5 O 9 ()
HiVP 20 4. 000 1. 500 0. 500 0. 500 0. 700 0. 800 4. 000 24t 1
faran
ER
HiVP
HR= 20
B 4.000
= 4. 000 1. 500 0. 500 0. 500 0. 700 0. 800 4. 000
4. 000 1. 500 0. 500 0. 500 0. 700 0. 800 4. 000




650 HiVP fd /K & ) & % a2
UEE (m) DIHANT]
= ot e 4 Jran ﬁ%m(m) @J[iﬁl
wHOBEME R |OERE - ) : i %
5}
Z-1 -2 Z.-3 Z—4 Z.-5 O 9 ()
1 HIVP 50 4. 000 1. 500 1. 800 3. 300 0. 700 1
(e
HiVP
EE= 50
HhE|  4.000
= 4. 000 1. 500 1. 800 3. 300 0. 700
4. 000 1. 500 1. 800 3. 300 0. 700




$25 HiVP Fl K & ) & & BiRA © 2
PEE (m) DIHNT]
Yar. Yar. VA P— ‘m t * I
B omm | ER |0 ERE " RE (m) it
b A
Z-1 -2 Z.-3 Z—4 Z.-5 O 9 ()
HiVP 25 4. 000 1. 000 0. 500 1. 800 0. 300 0. 400 4. 000 0. 000 1
faran
ER
HiVP
ER= 25
HhE|  4.000
2 4. 000 1. 000 0. 500 1. 800 0. 300 0. 400 4. 000 0. 000
4. 000 1. 000 0. 500 1. 800 0. 300 0. 400 4. 000 0. 000




MHE

No.1
BRIRE B FR & B4 | BUME | EEHE & &
KI5 R REKTEEYIN - FTGEEER) | ¢ 100X ¢ 75 A 1
HUARZBEI 075 |ANETSUOEE (BEER) @75 & 1
toH=E H=600 #A 1
HiVP  L=4.00m @75 p:N 1
HYHBET ¢ 25 | FIRELTIF ®25 £ 1
BhLAVry(EEER) ®25 & 2
toH=E H=600 #A 1
HRILIFHKE GBEER) ® 100 x ¢ 25 & 1
ISRAVa(Ak 25 & 1
HiVP  L=4.00m @25 x 2
HivV 4y 25 & 2
HiTZJLAR 25 1& 2
BRI —b W=150S m 8.5 4.0+25+1.0+1.0 GE XSS L)

HARBET @75 [JHANIE GRIBXIIGE) 75 = 1
fHEFF H=100 75 & 1
ANBTSUOGEMHEE ®75%90° & 1
TSUOMFM 75 & 2
HKRE H=600 #A 1
BEEt Lo o7 | AHEE (EEEA) ®75 & 1
HwAKkoET HRILIFHKE GBEER) @100 % ¢ 20 & 18
ISRTaqvk 20 & 18
HiV4 vk ®20 & 29
" $20x 13 & 10
HiTJLR 20 & 36

HiVP  L=4.00m 20 V. 17 67.5m#ER(5.5m x 114, 1.0 X 7H#)

BRI —k W=150S m 58.5 58 5m#ER(5.0m X 1144, 0.5 X 7))




FHR

No.1
BRIRB £ K B | Z0H=E | EEH=E & &
F/RGHX THKTFEREL FEIFM) $100x ¢ 75 £ 1
HOARELO75 | TSV SHMET 75 i 1
AEFRET H=600 #A 1
BERE ® 1
ANZHILBFET(GEEER) 75 | 1 ANBTSUDEES
EZ—IILEMmET ¢75 m 1.0
HIFHRBIL 25 [{EUIRFJ/ETL $25 # 1
RUTFLUOEMRFT @25 A 2
HENOEERLAHES @25 A 2
AEFRET H=600 #A 1
BERE ® 1
YRILDKERBFET (GBEER) » 100 x 25 & 1
HENOEERLAH#ES 25 A 1
E-—ILEMET ®25 m 8.0
TS#FT ®25 A 8
ERRO—k m 8.5 4.0+2.5+1.0-1.0 GH X2 EED)
EARBET 075 [JHANREET 175 & 1
AN=HILBFIGEEEMR) b75 A 1
IV MFET b75 A 1
AEFRET H=600 #A 1
BERE ® 1
B &Ik ¢75 | AN H)LEFE T EESH) b75 i 1
wKUET HRILDKEFREIL(BEER) $100% ¢20 & 18
HENOEERLAH#ES ®20 A 18
E-—ILEMET ®20 m 67.5 67.5mFER(5.5m X 114, 1.0 X 7#)
TSH#FET ®20 A 140
17 @13 A 10
ERR—K m 58.5 58.5m#E%(5.0m X 1144, 0.5 x 744)




T I % = No.1

22 L O® M B 4 = RETHME
$/7|<i§t1ﬂl=z Wk B4 T H=600 Efﬁﬁ@ 060 m X 0739 m X 30 m = 1.33 m3
BoKEMERTL H=600 B 060 m X 0682 m 75 m = 307 m3

=111 = 440 m3 4
i . = (@) 060 m X 0289 m X 30 m = 052 m3
BERL T A ErmEm® 060 m X 0232 m X 75 m = 1.04 m3

&5t = 156 m3 2

BHERLT FEL FE®. @ 060 m X 0200 m X 105 m = 126 m3 1

R AET = 300 m3 3

TRERET t=15cm RC-40 060 m X 105 m = 6.30 m2 6

LERAET t=12cm M-30 060 m X 105 m = 6.30 m2 6

RAsEHEE T t=3cm FEAL 060 m X 105 m = 6.30 m2 6

AEIHASTHET (AAET) t=5cm ok 1 080 m X 105 m = 840 m2 8

AsERZE R YT T t=5cm 105 m X 4 % = 4200 m 42

AsTHEEhRBERE T t=5cm 080 m X 105 m = 840 m2 8

IR AsEH = MR B T t=3cm 060 m X 105 m = 6.30 m2 6

AsERZE B -0 T = 061 m3 0.6

HBKEMERTL |HMEKRIET H=600 060 m X 0676 m X 585 m = 2373 m3 20
HHIERLT TSR 060 m X 0226 m X 585 m = 793 m3
BEWIERLT H=600 060 m X 0200 m X 585 m = 702 m3

RIAET = 1593 m3 20

TERET t=15cm RC-40 060 m X 585 m = 3510 m2 35

TERET t=12cm M-30 060 m X 585 m = 3510 m2 35

RAsEHEE T t=3cm FEAL 060 m X 585 m = 3510 m2 35

AEIHASTHET (AAET) t=5cm ok 1 080 m X 585 m 46.80 m?2 47

AsEHZERRYIBT T t=5cm 5850 m X 4 % = 23400 m 234

AsTRZEhRBERRE T t=5cm 080 m X 585 m = 46.80 m2 47

R AsErZE iR R T t=3cm 060 m X 585 m = 3510 m2 35

AsTRZE R B -0 T = 339 m3 3




675 HiVP fd /K & ) & % Bma - iTE T AR
PVEE  (m) DHANS
Lo s
B OB E R |0 ERE S =R (m) SO T i =
Z-1 7.2 Z.-3 Zi—4 Z.-5 O 9 ()
HiVP 75 4. 000 1. 000 1. 000 3. 000 1
=g
HiVP
TR = 75
HHE|  4.000
Z 4. 000 1. 000 1. 000 3. 000
4. 000 1. 000 1. 000 3. 000




$25 HiVP Fl K & ) & & Biag il T AR
PEE (m) DIHNT]
% (m) Y T
=] 1t s ==
7O M B |0 ERE g . i &
5}
Z-1 -2 Z.-3 Z—4 Z.-5 O 9 ()
HiVP 25 4. 000 4. 000 4. 000 1
(e
HiVP 25 4. 000 2. 500 1. 000 0. 500 4. 000 HiVP
ER= 25
HhE|  4.000
= 8. 000 6. 500 1. 000 0. 500 8. 000
8. 000 6. 500 1. 000 0. 500 8. 000




